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import seabern as sns
sns, boxplot (x="4ZD=",

<hxessubpl ot txlabel=
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<hxesSubplot ixlabel=
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+

sns.boxplot (x="AE D=
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sns. | ineplot (x="24Al2tDE", y="21F=", hue="HED=" data=df)

<natplotlib.axes. subplots, AxesSubolot at Ox1dalb578565>
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<matplot|ib. axes. _subplots. AxesSubplot at Ox1daObb576c3>
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import matplotlib.pyplot as plt

import seaborn as sns

plt. flgurel figsize=(9, 9))

sns heatnapl(data=df .corr(), annot=True, fut=".2f"}

plt, showl )
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printinp. mean(scores))

Cross_val_score Z3}:
> 0, 62192881 7451 2055

feature_importances_& HI® O & 8 WFE
A AR A} print(model . feature_importances_)

[0.96218522 0.03781478]

¢ nodel fit(X_train, w_train)
pred = nodel .predict(X_test) # phat = price

@Q‘E, F]. score, 26] ?‘E!E, print{confusion_matrix(y_test, pred])

print("E==:", accuracy_score(y_test, pred))
= print{"F1:", f1_score(y_test, pred))
ZH _5'1-5 U] Z E_ . print("HZ=:" |, precision_score(y_test , pred))
- ( s )’ ROC print("AEE(2IZ=)", recall_score(y_test , pred))
print{"ROC:" , roc_auc_scorely_test, pred))

[[1035 496

[ 416 65611

A= 0.6509758807818509

F1: 0.5935828377005348

AT 0.573149741 8244407
RH_*E(E?‘:.*E% 0.6155268022181 146
ROC: 0,B457777708020654
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print (np.mean{scores) )

Cross_val_score 23}
> 0. 54322901 57442287

feature_importances_& HlH o2 =8 WIE A
A3 B Ay} print(model . feature_inportances_)
[0.651991595 0, 34800805]

omodel fitiX_train, v_train)
pred = nodel predict{i_test) # uhat = prics

@Q—E, Fl score, Zggj int (confusion_natrix(v_test, pred))

", accuracy_scorely_test, pred))
_l 1 int("F1:", fl_score(y_test, pred))
& 5-(1] 7 g int(" o, orecwsmn_score(y_test . pred))
ZH@E( el E)’ ROC int(" BIZrs)" | recal | _score(y_test , pred))
i ", roc_auc_score(y_test, pred))

[[92 78]

[71 8911
H=E 0.52287558169934641
F1: 0.4822605035460093
EZE: 0. 4755244700244755
MEE(PDZE): 0.4892086330035262
ROC: 0,5200534183431698




Cross_val_score Z3}:

feature_importances_&

AR 2t

print (np.mean{scores))

0.6862216748768474

g o g 8 W

.EEL
=

printmodel . feature_importances_)

[0.08491659 0.27130963 0.3901187 0. 25365509]

I

&% F1 score,
A E(WN7E), ROC:

model . fit{¥_train, v_train]
pred = model predict (X_test) # phat = price
print{confusion_matriz(y_test, pred))
print{"AE=t=:", accuracy_score(y_test, pred))
print{"F1:", fi_score(y_test, pred)
print("HLE:" , precision_score(y_test
print{"FEZ(0IZE):" | recal|_scorefy_test
print{"ROC:" , roc_auc_score(y_test, pred))

[[574 &3]

[ 76 45811

HET: 0,8775510204081632

F1: 0.8641508433062263

FUT: 0.870722433460076
FHEE(DIZE): 0.8576779026217228
ROC: 0.8758794497532291

. pred))
pred))
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